=

Homework 8/12-8/16

Name:

Solve each problem.

)

3)

5)

7

9

10)

11)

12)

Rewrite in standard form.

9,000 +900+ 10+ 3

2)

Round 3,343 to the nearest hundred.

Use >, < or = to compare the two numbers. 4) Use >, < or = to compare the two numbers.
1,371 1,371 68 68
Express the value shown. 6) Rewrite in standard form.
thottles::nds thousands | hundreds | tens | ones 6,000 +900 + 60 + 5
9 4 6 2 78
Rewrite in standard form. 8 10x50=
7,000 + 700 + 30+ 3
Convert 591,378 to expanded form.
Convert 9,726 to word form.
Convert 19,253 to expanded form.
Use the pattern to answer the question.
A 9 13 |17 |21 | 25
B 6 10 | 14 | 18 | 22

The patterns above are synchronized. If the number in pattern A is 171, what will

be the number in pattern B?

Answers

10.

11.

12.
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ﬁ Homework 8/12-8/16 Name:

Solve each problem. Answers
1) Rewrite in standard form. 2) Round 3,343 to the nearest hundred.
9,000 + 900 + 10 + 3 ! 9,913
2. 3,300
3) Use >, < or = to compare the two numbers. 4) Use >, < or = to compare the two numbers.
1,371 = 1371 68 = 68 N -
5) Express the value shown. 6) Rewrite in standard form. 4. —
thOltleSI;ndS thousands | hundreds | tens | ones 6,000 +900 + 60 + 5 04,698
9 1 6 2 | 78 > 2
6. 6,965
7) Rewrite in standard form. 8 10x50= 500
7,000 + 700 +30+3 7 7,733
9) Convert 591,378 to expanded form. 8. 500
500,000 + 90,000 + 1,000 + 300 + 70 + 8
9' 500,000 + 90,000 + 1,000 + 300 + 70 + 8
10) Convert 9,726 to word form. 10, i towsand seven hunared ey
nine thousand, seven hundred twenty-six
11. 10,000 + 9,000 + 200 + 50 + 3
11) Convert 19,253 to expanded form. 1. 168

10,000 + 9,000 + 200 + 50 + 3

12) Use the pattern to answer the question.
A 9 | 13|17 | 21 | 25
B 6 [ 10 | 14 | 18 | 22

The patterns above are synchronized. If the number in pattern A is 171, what will
be the number in pattern B?
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